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Directions:
Solve each math problem. Then find the answer and write 
the letter in the correct place to solve the riddles.

This is a light as a feather, yet no man can hold it for long. 

Y

R A I N

O U R B R E A T H .
1 102 3 4 5 6 7 8 9

What falls but never gets hurt? .
14131211

1. 2. 3.
3 6 4
2 1 9
1 5 5

1 0 7

1 6 8

2 8 1 7 1 9 5 6 6 2 1 1

2 4 0

2 0 3 1 8 3 2 5 4

4 5 7 4 8 7 1 1 8

1
5

–
8 4 9
3 9 2–

7 3 0
2 4 3– 4.

5 4 5
4 2 7–

5. 6. 7.
4 7 3
3 6 6–

6 9 3
4 9 0–

9. 10.
7 5 2
5 8 4–

5 1 3
2 7 3–

4 2 8
2 4 5– 8.

9 3 6
6 8 2–

11 12. 13.
4 8 9
2 0 8–

8 5 1
1 3 2–

7 8 5
2 1 9– 14.

3 3 7
1 2 6–

This is as light as a feather, yet no man can hold it for long.

What falls but never gets hurt?

This is as light as a feather, yet no man can hold it for long.

What falls but never gets hurt?

1  4  5

Y.  145 168
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